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https://www.100test.com/kao_ti2020/145/2021_2022_JAVA_E9_A

2_98_E5_BA_93_c104_145539.htm question 33)what will happen

when you attempt to compile and run this code//demonstration of

event handlingimport java.awt.*.import java.awt.event.*.public class

mywc extends frame implements windowlistener{public static void

main(string argv[]){ mywc mwc = new mywc(). } public void

windowclosing(windowevent we){ system.exit(0). }//end of

windowclosing public void mywc(){ setsize(300,300).

setvisible(true). }}//end of class1) error at compile time2) visible

frame created that that can be closed3) compilation but no output at

run time4) error at compile time because of comment before import

statementsquestion 34)which option most fully describes will happen

when you attempt to compile and run the following codepublic class

myar{ public static void main(string argv[]) { myar m = new myar().

m.amethod(). } public void amethod(){ static int i.

system.out.println(i). }}1) compilation and output of the value 02)

compile time error because i has not been initialized3) compilation

and output of null4) compile time error question 35)which of the

following will compile correctly1) short myshort = 99s.2) string

name = excellent tutorial mr green.3) char c = 17c.4)int z = 015.
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